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$¥sin “{2M¥fracl¥pi H4H¥cos "{2M¥¢fracl¥pi {4l=1$

¥[ ¥frac{d{dx}¥log {2}x=¥frac{1}{x¥In 2} ¥]

¥[ ¥frac{1}{3}¥times ¥left[3+3¥times ¥left¥{¥frac{34+¥frac{2){5]¥times ¥left(¥frac{¥frac{3}{17H3}{13]}
—¥frac{7¥frac{1 {31 2}¥right)+6¥right¥}¥right]=¥frac{196909}29172} ¥]

¥[ 2¥sqrt{3H-5¥sart{7¥times ¥sart[3]{120+¥sqrt[4]{256}¥, }=5¥sart{7}¥, ¥sqrt[3]{124}2¥sqrt{3}¥, ¥]
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¥[ 2¥begin{pmatrix}

58&4 &6 ¥¥

5&7 &1 ¥¥

9&1&5

¥end{pmatrix} ¥begin{pmatrix}

¥frac{1}{2} & 0.7 & ¥sqrt{5}¥, ¥¥

¥epsilon *{3} & ¥sin 20" {¥circ} & ¥log 10 ¥¥
6.47{2} & ¥epsilon & ¥int {0} {1} xdx
¥end{pmatrix} =¥begin{pmatrix}

657.20 & 42.36 & 36.36 ¥¥

368.12 & 17.22 & 37.36 ¥¥

458.77 & 4047 & 47.25

¥end{pmatrix} ¥]

¥[ ¥begin{vmatrix}

¥sqrt{5¥, & 2.5647 & ¥frac{87H97} & 10 ¥¥
4¥%times 8+7 & ¥log 10 & ¥sin 10 & ¥cos 30 {¥circ} ¥¥
-5375 & 0 & ¥epsilon “{2} & 27{3} ¥¥

16000 & ¥sqrt[3]{5}¥, & 13 & ¥beginfvmatrix}
1&2¥¥

48&5

¥end{vmatrix}

¥end{vmatrix} =—1247171.15183719 ¥]
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¥begin{equation*}

¥begin{split}

g [xJ(x,y)=¥frac{1 {XYMint_{x—¥frac{X}2}} {x+¥frac{X}2}} ¥int_{y—¥frac{YH2}} [y+¥frac{Y}2}} g(¥hat{x} ¥ha
tly} )¥exp [-2¥pi i¥hat{x} /XI¥ d¥hat{x} ¥,d¥hat{y} ¥¥

=¥frac{1 {XY}¥sum_{n=—¥infty } ¥infty } ¥sum_[m=—¥infty } {¥infty } G_{nmP¥int_{x—¥frac{X}{2}} {x+¥fra
c{X}2l} ¥int_{y—¥frac{Y{2}) {y+¥frac{Y{2]} ¥exp ¥left[2¥pi i¥left(¥fracin¥Delta {x]{XH¥fracim¥Delta {y
WY ¥right)¥right1¥¥

& ¥quad ¥times ¥exp ¥left[2¥pi i¥left¥{¥frac{(n—1)¥hat{x} {XH¥fracim¥hatly} {YF¥right¥¥right]¥,d¥ha
t{x} ¥,d¥hatfy}

¥end{split}

¥end{equation*}

=
Elo

B4 A LR [k N R i = RN
H 7R 1508045 506198 9619 156. 78 2. 98
=T 1430332 453404 15277 93. 63 3. 15
=87 2299396 758450 7292 315. 33 3.03
K H 1225868 383269 11612 105. 57 3. 20
L 1256481 358345 9327 134. 71 3.51
15 B 2135646 651402 13784 154. 94 3. 28

=
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¥begin{table}[htbp]
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¥beginftabularfc|c|c|c|c|c]} ¥hline
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